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2. Write answer of each section in separate answer books.
3. Figure to the right indicate marks of questions.

SECTION - I

Question: L

(A) Derive only the equation of a regression line of. x on y.

(B) Obtain two regression lines from lbllowing clata.

OR

Question: 1

(.,L) Prove that br" a,ncl 1,,, are riepenclent of change of scale.

(ts) The equations of bwo regression liries are as follorvs. .

8z * 1017 : -66 40r * 18y : )14

Ol-''ta,in
(i) the value of colrejation co-efficierr[.
(2) thc nrean values r.lf :r; ancl g.

Question: 2

(A) Deri',r. the formula for {inrling c.rrielation c'-c-ficient

{13) lierive SDrralrnan'o- fornnil;r f,r ia,nj< r:i,irrclation coelficient.
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Question: 3 Attempt any two (each carry 6 marks)

(A) 10 MCQ each with 3 alternatives inclusive correct answer' Find the probability that

astudents,gellsormorecorrectanswers'UseBinomialDistribution'

(B) Define Poislol clistribution and derive the following result'

:,,J,ira],: 
i i i : i" ' : I . i  ," -]. _i . I e') . ) '

' i  '  
P (X=r ) : . -T

,  : , l i  ,  i i  .  :  ' L !

(C) If X - N(,ri = 46f ,1'?. 1 ?So) then evaluate following'

(i) P(r > 480) (ii)'p(+soi" < 475) (iii) P(r > 452)

SECTION - II

Question: 4

(A)CalculateGeometricmeanandHarmonicmeanforfoliowingdata.
t5l

class 2-4 +6 6-8 8-10 10-12

trequency 20 40 30 10 10

(B) calculate mean by using step deviation method for following data'

class 0-10 10-20 20-30 30-40 4G50
frequency 3 r9 32 1 n

l _ l 4

(C) Define types of ciass intervals.

OR

Quest,iun: 4

(A) Obtain }r'leclian and Quartiles for the giverr tlala"

{B) Obtain mode for the given data.
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{C) Define Quartiles , l)eciles and Percentilc's

Question: 5

(A) Finct nean deviation about rnerlian for foilowing data
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(C) Der.i.',,c tirc forrrrulzl oj stirncl;r,rci deviirt,ion by st,t:p cleviation tnetltir'tl
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1 0  r  l q  (
l l . J - r J . ' - l1  1 .5 -1  2 .510 .5 -11 .59.5-10.5weight in kg.

Incomc 1-5 6-10 r l - r i ) 16-20 2r-25 26-30 31-35 36-40 4 1 - 4 0
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Question: 5

(A) Find Karl Pearson's co-efficient of skewness from given data.

3,  g,  7,  5,  g,  10,  LL,9,7,12

(B) Calculate co-efficient variation from following data.

class 15-25 25-35 35-45 40-oo oD-oa oo- /o 7+85
frequency 30 40 100 110 80 30 10

Question: 6 Attempt any two (each carry 6 marks) , ,, [12]
(A)Find4 'ndeci Iearrd50 'hpercent i leand'77thpercent i le f romgivendata.

class 10-19 20-29 30-39 40-49 50-59
frequency 2 o

J, r, L4 10

(B) Find mode using method of grouping then calcuiate mean deviation about mocle.

(C) The sum of the squa.res of the deviations of a set of values is minimum when taken
about mea,n.
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Z 0 I ) 3 4 J 6 7 8 9
0.0 0.00000.00400.00800.01200.01600.01990.02390.02790.03190.03s9
0.1 0.03980.04380.04780.05170.05570.05960.06360.067s0.07140.a7s4
0.2 4.07930.08320.0871'0.09100.09480.09870.10260.10640.11300.114l
0.3 0.t1790.12170.12550.t2930.133 I 0.13680.14060.14430.14800.1517
0.4 0.15540.  I  591 0.16280.16640.17000.t7360.17720.1 808 0. l 844 0.1879
0.5 0.191s0.19500. r98s0.20190.20540,20880.21230.21s70.21900.2224
0.6 0.22580.22910.23240.23570.23890.24220.24540.24860.25180.2549
0.7 0.25800.26t2 0.26420.26730.27040.27340.27640.27940.28230.2852
0.8 0.28810.29100.2939 0.29670.29960.30230.30510.30780.31060.3133
0.9 0.31590.31860.32120.32380.32640.32890.331s0.33400.33650.3389
1.0 0.34130.34380.34610.34850.35080.35310.3s540.35770.35990.3621
1.1 0.36430.36650.36860.37080.37290.37490.37700.37900.38100.3830
1.2 0.38490.38690.38880.39070.39250.39440.39620.39800.39970.4015
1.3 0.40320.40490.40660.40820.40990.41150.4r3r0.4t470.4t620.4177
t .4 0.4t92 0.42070.42220.42360.42510.42650,42790.42920.43060.43t9
1.5 0.43320.4345a.$57 0.43700.43820.43940.44060.44180.44290.444r
1.6 0.44520.44630.44744.44840.44950.450s0.45150.45250.45350.4s45
t .7 0.45540.45640.45730.45820.4s910.4s990.46080.46t6 0.462s0.463.
1.8 0.46410.46490.46560.46640.46710.46780.46860.46930.46990.4706
1.9 0.47 13 0.47190.4726 |  0.47320.47380.47440.47500.47560.47610.4767
2.0 0.47720.47780.47830.47880.47930.47980.48030.48080,48120.4818
2.1 0.482r0.48260.48300.48340.483 8 0.48420.48460.48500.48s40.4857
2.210.4861 1 0.48640.48680.48710.487s0.48780.48810.48840.48870.4890
2.3 0.48930.48960.48980.49010.49040.49060.49090.491 I 0.49130.4916
2.4 0.49180.4920 | 0.49220.492s0.49270.49290.493r0.49320.49340.4936
7 5 0.49380.4940 0.49410.49430.49450.49460.4948 | 0.49490.49510.4952
2.6 0.49530.49550.49560.49s70.49590.4960 |  0.49610.49620.49630.496+
2.7 a.495s0.49664.49670.49680.49690.49700.49710.49720.49730.491+
2.8 0.49140.497 5 0.49760.49110.49170.49780.49790.49790.49800.4981
2.9 0.498I0.49820.49820.49830.49840.49840.49850.49850.49860.4986
3.0 0.49870.49870.49870.49880.49880.49890.49890.49890.49900.4990
3.1 0.49900.49910.49910.49910.49920.49920.49920.49920.49930.4993
3.2 0.49930.49930.49940.49940.49940.49940.49940.49950.49950.4995
3.3 0.49950.49950.49950.49960.4996 0.49960.49960.49960.49960.49913!r LIry10.49970.49970.49970.49910.49910.49970,49970.4991 0.4998
J , : ) r ) . 499E0.49980.49980.49980.49980.4  998 0.49980.49980.4998 0.4998
J.t) t ) .4 t r980.49980.4999 0.4999

0.4999
0.49990.4999 0.49990.49990.4999 0.4999

J . l 0.19990.,19990.4999 0.4999 0.49990.49990.49990.49990.49993.8 0.49990.4999 0.4999 0.4999 0.49990.4999 0.49990.49990.49990.4999{ ( , , .  )UUU 0.5000 5000 0.50000.50000.50000.50000.50000.50000.5000

Areas under standard normal curve From 0 to z
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